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1. Consider the function y =x*-—2x"for x between -1 and 3. Which one of the following
statements is true?
(@) There is a global maximum at (2,-41),
(b) There is a local maximum at (3,27).
(c) There is a stationary point of inflection at (0,0).
(d) There is a global minimum at (-1,3).
(e) Thereis a local minimum at (0,0).

2. Which of the statements below correctly match the function with its derivative?

A, i ¢ b F

(a) Cis the graph of the derivative of B (b) A is the graph of the derivative of C

F is the graph of the derivative of C C is the graph of the derivative of F
D is the graph of the derivative of A B is the graph of the derivative of D
E is the graph of the derivative of D. D is the graph of the derivative of E
(¢) C is the graph of the derivative of A (d) C is the graph of the derivative of A
E is the graph of the denivative of C F is the graph of the derivative of C
D is the graph of the derivative of B D is the graph of the derivative of B
F is the graph of the derivative of D. E is the graph of the derivative of D

3. A function fis decreasing for x=2and f(2)=20, f'(2)=-2 and f"(x)>0for
x 22 . Which of the following is a possible value for f(4)?

(@) f4)=16 () f(4)=18 () f(9=20 (D f(A=22 (c) f(D=24

4. 'Which one of the following statements is correct?
(@) iff(@)=5 then f'(t)=7:5".
(b) iff(x)=x thenf'(x)=-3x"".
(c) iff(z)=7—=% then f(2)=1-1,
(d) ify=x*+3x"+5then F=3x?+6x+5 .
» _ dy -
(C‘) 1fy--J7 then 'I—g};. |

5. Suppose f(x,y)=x'e” Which one of the following statements is correct?
(8) ZL=3x"¢”+x’ye” and %=x‘e“” :
(b) Z=3x’ye” and % =3x’e?,
() ZL=3x%?+x'e” and % =xye?.
(d) ZL=3x%” and L =x"e”.

@ Z=3x’"+x’ye” and L=x"e".
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6. 'Which one of the following has not been differentiated correctly?
() iff()=e""* then f'(t)=2xe"*.

(b) if A(x)=+/x*+5 then h'(x)= e

(c) iff(z)=m then f'(z)-*:(—z,%.

(@) ifA(x)=(2x*+€) then h'(x) =3(8x> +€*)(2x* +€*)2.

2(2x+3)

1 — 2 2 i:—;
(e) ify (2x° +3x+1)° then 7R v sy

7.  Which one of the following statements is correct?
(8) imZi =0 () imLr=—c" (c) imiL=1 (d)

X=rd x+e’ x~>»] " .

lim =2 = 1 (e) lim!as =0

x=1" x—»1 *-1

8. Find lim(~1)" (-’3-;-1)

n—pco

(@1 ®)~-1 () (d) —o (e) None ofthe above

9. Find an expression for the area from 5 to 7 under the curve y =x* as a limit.

S 54y 4

(a) y_{g;(ﬂn) —.
. 4i. 5 1

(b) }gg;(S"';") —
3

n

@ Lm> (5+2y2

A=row {ml N 1

& 30,3
(e) hmZ(5+';) ~

n=»0 fwl

© lmY( +-§)3

AD ful

10. Evaluate the definite integral Eimdt.

5438

@0 (-2 ()01 (M1 ()3

11. Find (approximately) the area of the region bounded by the curves

y=4+x?, y=4+e*

(2) §=1.01 (b) $=0.96 (c) S=0.98 (d) S=0.99 (e) §=0.97

12. Evaluate the integral _I:x’ e dx.

(@ t(1-e) @) ('-1) () Ld-e") (@ 4d-e') () 5(1-e™)
13. Find lim x¢*, ,

@ (OO0 (U3 (3 ) ©
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14. Evaluate the definite integral j'sin’ 2xc0s2xdx . }

(8 —cos’2x+Lcos’2x+C.
() Lcos’2x—-Lcos’2x+C.
() -—3sin’®2x—1sin’2x+C.
() -isin’®2x+1sin®2x+C
(e) 10sin® 2x+6sin?2x+C

l

15. Find the solution of the differential equation x+4y*vyx? +1 % =0 that satisfies the
initial condition y(0) =6.

@ y=Y1206+/x +1.
®) y=41297—J¥*-1.
© y=31207+%+1.
@ y=41296—x*+1
© y=41207-Jx?+1

16. Determine whether the series is convergent or divergent. If it is convergent, find its

& 4” +7ll
Sulll,
w1 28"
. Y | 4 1 9
di t = = @ - —
@ divergent &) 7 © = @ 5 © o

17. Find the Maclaurin series of f(x)=xcos(2x).

@ S

)
(-1)" 22: P
(b) . {(2n)! :
ns
. 2 (_l)lﬂzl x!lll-l
(c) . (2n}t
> 1
s i

(d) D

s}

L+
(~1 21! .rzll'l
(e) Z ). n
=l

18. Calculate the double integral H ;',"% d4, R={(x,y)|0<xs4,-35y<3}.

(@) 7nS (b)) 717 (c) OIn17 (d) SIn5  (e) 6Inl7




